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Problem #1: Circuit theories applications: [25 points]

The voltage across the 22.5 Q resistor in the circuit is 90 V, positive at upper terminal.
(a) Find the power dissipated in each resistor.
(b) Find the power supply by the 240 V voltage source
(c) Verify that the power supplied equals the total power dissipated.
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Problem #2: Simplification of circuit: [25 points]

Find the equivalent resistance Rab.
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Problem #3: Node-Voltage Analysis: [25 points]

Use the node-voltage method to find vo:
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Problem#4: Thevenin Equivalent and Power Calculation [25 points]

The variable resistor in the circuit below is adjusted for maximum power transfer to Ro
(a) Find the Thevenin equivalent and draw the equivalent circuit

(b) Find the value of Ro
(c) Find the maximum power that can be delivered to Ro
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